
Slope-Intercept Form

We have been studying solutions to linear equations which
can be solved for y as:

We saw that the line has slope = m
Is there, also, significance to the number b?

Recall : The y−intercept is the solution when x = 0
This means that the y−intercept has y value:
So, the y−intercept is (0, b)
That is, b is the y value of the y−intercept
y = mx + b is called the Slope-Intercept Form
Since a line only has 1 slope and 1 y−intercept, there is only
one way to write an equation of a line in Slope-Intercept form
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